
https://mathproblemsbank.net/ 
support@mathproblemsbank.net 
 

Problem: 

Solve the inequality, using the majorant method: 

−|𝑦| + 𝑥 − √𝑥2 + 𝑦2 − 1 ≥ 1. 

Solution:  

−|𝑦| + 𝑥 − √𝑥2 + 𝑦2 − 1 ≥ 1 ⇒ (∗) 𝑥 − 1 − |𝑦| ≥ √𝑥2 + 𝑦2 − 1 ≥ 0 ⇒ 𝑥 − 1 − |𝑦| ≥ 0 ⇒ 

⇒ 𝑥 ≥ 1 + |𝑦| (∗∗) ⇒ 𝑖𝑛 𝑡ℎ𝑖𝑠 𝑐𝑎𝑠𝑒 𝑥2 + 𝑦2 ≥ 𝑥2 ≥ 1. 

Now let’s square both parts of (∗) (both parts are non-negative) ⇒ 

⇒ 𝑥2 + 1 + 𝑦2 − 2𝑥 + 2|𝑦| − 2𝑥|𝑦| ≥ 𝑥2 + 𝑦2 − 1 ⇒ 1 ≥ 𝑥 − |𝑦| + 𝑥|𝑦|, ⇒ 𝑥 − 1 − |𝑦| ≤ −𝑥|𝑦|,  

𝑏𝑢𝑡 𝑓𝑟𝑜𝑚 (∗∗) 𝑤𝑒 ℎ𝑎𝑣𝑒 𝑥 − 1 − |𝑦| ≥ 0, 𝑤ℎ𝑒𝑟𝑒 𝑥 ≥ 1 ⇒  −𝑥|𝑦| ≥ 𝑥 − 1 − |𝑦| ≥ 0 ⇒ 𝑥|𝑦| ≤ 0, 𝑥 ≥ 1 ⇒ 

⇒ |𝑦| ≤ 0 ⇒ 𝑦 = 0 ⇒ 𝑥 ≥ 1, 𝑎𝑛𝑑 𝑒𝑣𝑖𝑑𝑒𝑛𝑡𝑙𝑦 𝑖𝑛 𝑡ℎ𝑖𝑠 𝑐𝑎𝑠𝑒  𝑥 − √𝑥2 − 1 ≥ 1, 𝑎𝑠 𝑙𝑜𝑛𝑔 𝑎𝑠 (𝑥 − 1)2 ≥ 𝑥2 − 1. 

So, the solution to the inequality will be the points (𝑥, 𝑦): {
𝑦 = 0
𝑥 ≥ 1

 . 

𝐴𝑛𝑠𝑤𝑒𝑟:  { (𝑥, 0) | 𝑥 ≥ 1 }. 
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